No.4

§4.1
K=F, K E (E K K
) E (divisor) D
D= np(P).
PeE
np€Z 0 ( (P) P
) D
suppD :={P € E | np # 0}
D
> np(P)+ Y mp(P) =) (np+mp)(P)
PeFE PeFE PeFE
Abel E (P)
D
deg D := Z np
PeE
0 D° D
E
r(z,y) == y* + arey + azy — (¢ + asa® + asx + ag) = 0
E K (coordinate ring)
K[E] == Kl[z,y]/(r(z,y))
Klz,y]  r(z,y) (r(z,y))
Y r(z,y) = —a1y —
azy + x> + asx? + asx + ag r(x,y) (r(z,y))

K|[E



KIFE] K(FE) E (function field) I

I a,b, b#0 a/b
Zi = Z—z <~ a1by = ashy
, K[E] K(E)
E K K(E) :
feREy P eB\{0) f g@)/h@), g.h € KIE]
, h(P)#0 .f P , J(P) = g(P)/h(P)
. . f (P )
f(P) P f(P) =00
4.1 2,3 K=F, Yy =12 —u f=
(22— 2)/y € K(E) (1,0) FE f K
f P 0/0 E
fzxz—wz(wz—fv)y_(wz—m)y_ y
y Y2 - x+1
f(P)=0 (
0/0 ( )
0/0 .
y? =23 y/x 0/0
)
f @ T 2,y 3

Deg az'y’ = 2i + 3

ylxy) O f
feKIE]  v(x)+yw()

Deg(v(z) + yw(z)) = max{2degv,3 + 2degw}

deg
= g(@,y)/M(z,y) € Klz,y/(r(2,y)) Degg > Degh  f(O) = oo, Degg <
Deg h f((?) =0 Deg g = Degh
g,h azx?, ba? ayz?, byx?
f(O)=a/b
4.2 y =2 +ar+b f=vy,9=a/y, h=(2*—zy)/(1 + xy)
f(O) = o0, g(0) =0, h(0) = -1
84.2
E P ue K(E) u(P)=0
Vfe K(E)* f=uls, s(P)# 0,00 u
E P
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f d f

u =%, v =ult,

s(P)#0,t(P)#0 u=u®st u wu ab=1,
a,b==+1 u(P) =v(P)=0 a=b=1 f
u v
41 PeFE u(z,y) :=ax+by+c=0 P P
v P
P(070) (E T(x7y):y2+
Yy ) c=
r(x,y) =0 ax+by=u b#0 Y
u=0 x=0 ( u= )
zg(x) +ufho(z) + ulhy(z,u)},  d>1, di>1, go(0) #0, ho(x)#0
hi(x,0) Z0 hi(z,u) =0 ho(0) # 0
Ry G
g(x)
(0 7y ho(0) =0 ho(z) = zqola),
e>1
a{g(x) + 2 Tulgo(x)} + ubhy(z,u) =0
hi(z,u) =0 (g(z) + x¢Ludge(z) = 0 )
=0 hi(z,u) = hy(x) +u®ho(x,u), do > 1, hy(x) £ 0
h1(0) #0
w{g(x) + 2 ulqo(z)} + u™ M {hy(2) + uBhy(z,u))} =0
r P x ydtd hi1(0) =0 ,
x h(z,u) u Y
x y=——
Y ( x :
u )
)
r=uls, y=ut de>1,s(P)#0,t(P)#0 . (d e
1 ar+by =u ) K[E] , P
O ) ) ) ) P # 0
S S K[E]s
K[E] P P 0
1
(local ring) I f(z,y)/9(z,y),
f(P)=0,g(P)#0 f(P)y=0  (P=(0,0)
) LY . f(l', y) U e
I K[E)s K(E)
fla,y)/9(x,y) f=ubey, g =u®cy, c1(P) #0, ca(P) #0
f(x,9)/9(z,y) = uh=%c, ¢(P) = e1(P)/ea(P) # 0 fz,y) #0
Vd >0 u? K[E]s ( ,

)

34



;K u K{[u]]

ap +au+agu® + - +au' +---, @, €K
(i.e. K )
K[z, y]]
apo + a10x + apry + agon + anxy + a02y2 + -+ aijxiyk 4+ aj; € K
K[Es K([z,y]]
H;sz =l-(e+y’ )+ (@+y)’ @+’ +- =l-a+a® —y? =2 + 20+
r = uls, y = uct s,t € K[E]s x,y
r,y oz =uls, y=ut
vy K[[u]] B B s,t € K[[u]] r=uls, y=ut
K[E]s — K[[u]]
I (u) Vd > 0 u?
0 0
fz,y) fla(),y(u)  Kl[u]] 0 .y
f(z,y) = 0 mod r(z,y) ( y
- 7 ) fz,y)
Kz, y] J - J D (r(2,y))
, , mod , v(z) + yw(x)
J : ;o w@)#0r(ny) =y*+ Ay + B(x)
w(z)?r(z,y) + (v(z) — yw(z) — Aw(@))(v(z) + yw(z))
= w(z)*{y* + Ay + B(2)} — (w(2)’y” — v(2)” — w(z)Alyw(z) + v(z))
= w(z)?B(x)) + v(z)? — v(z)w(z) =: h(z)
x J r 0
h(z(u)) =0 h(z) =0
h(z) = zfc(x), ¢(0) # 0 h(z(u)) = udec’(u);c’(o = s_(O)dC(O) #0
J = (r(z,9)), K[E]s — Kl[u] P
,b=0 ar =1u ,a#0 , U
T =u NS
u=axr +by a#0 x Yy O
u
4.3 2,3 K E:y>=a2+ax+0b
P=(cdgBE P B
(=3¢ —a)(z —c)+2d(y —d) =0
d#0 Uu=x—c , ) r—c=u,
T +cr+c+ta
Y —d?=a23+ax+b— (3 +ac+b) y—d= U+ d u
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P =(c,0 P E (=3¢ —a)(z—c) = u=vy
r=c B E
r=c r —c=su?, s(P)#0,

Y2Z =X3+aX2Z%+ 273

Y £0 Y3 v=X/Y,w=2Z)Y
7 X\3 X (Z\2 (N3 o s s
Y_(Y) +aY(Y> +b<y) W= et w
(0,0) ( )
w = 0. v v=X/Y =x/y
3—2=1
feK(E)*,PcE P u f=uls, s(P)#0
f P d ordpf =d P f
ordpf >0 P
f ordpf <0
f
(f) ZZZOTde'(P)
PecE
0 ie. (f)eD°
4.2
44 K=F, char K #2,3 K E:y>?=23+ar+b

(i) P=(c,d) #E[2]
(z —c) = (P) + (=P) = 2(0).

+P U= —2c T —c

(x —c) =2(P) —2(0).

x—c P u=1y P
y? = (x —c)g(x), g(c) # 0 x—c=u’/gx) P

(y) = (P1) + (P2) + (P3) — 3(0).

y=0 y
(iV) M+py+v=0u#0 E P, P, P

Az +py +v) = (P1) + () + (P3) — 3(0)
U= AT+ py+v
(V) b#0 Py = (0,Vb), P5 = (0,—v)

(2) = (P + (P +(©) = (P) = (P) - (Py)
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DeD° fe K(E)* D = (f) (principal divisor)

PcE PcE
@
4.4 (iv) z,y
(4.1) (f) (P)+(Q)
P QR lz,y) =ax+by+c=0,b#0 ff/l
(P)+(Q) —(R)+3(0) (P) +(=P) r—c
2(0) ;
9j (H—gj) = (P) + k(0), k(O)
keZ. .
(g) g#1 K r(z,y) = glz,y) =0
E g=1
7a(xvy):f(x7y):0 E (
Bézout ) r
P P 3P
k=0 (f) = 22(95)
(f) (4.1)
( >_pep,p+0 NPl ) U
0 b
0 DO Drr Dy,
DyeD° | f e K(E)" Dy = Dy + (f) D1~ Do
(divisor class group) D°/Drr
Abel
Jacobi
E Jacobi
VD = ZPeE np(P) € D" Q= ZPeE npP D—(Q)+(0)
D ~(Q)—(0). (@) —(0) ~(Q)—(0)
(?ﬂ) —(Q) ~0, (@) - (@) (
(5) = (Q) — (@) Bézout )
c:D—Q Abel
4.1 K =F; y? =23 +2
2?4y 2 +x+1
(1) (2* —y) (2) 2ryt1 (3) P rrty
2 Riemann
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Bézout K m n f(z,y), g(x,y)

(O) Y 7 7
(1) K" , y ;
f= x ,9=0 ;
flay) =y +ar(@)y™ "+ +am(z),  glz,y) =y" +bi(x)y" " 4+ bu(2)
, x
dega; <j, j=1,...,m—1, dega,, <m, degb; <j, j=1,...,n—1, degb, =n
- ( , degb, <n x g=0 )
(2) f(z,y) =g(z,y) =0 x ; R(f,9)(z) -
, R(f9) = mn » R(f,9)
1 ai(z) as(z) -+  am(z) 0 e 0
0 1 a(z) a(z) - ap(x) :
: 0
o -- 0 1 ai(x as(x) - am(x
Riha) () o) (x)
1 bi(x) ba(x) -+ bp(x) 0 e 0
0 1  bi(z) ba(x) by () :
’ 0
0 0 1 bi(z) ba(x) by ()
(3) o R(xvy)<x):0 k ) T = To ’ f:()?g:()
k )
R(f.9) = [T 1 (es(@) = Bi(a))
Jj=1k=1
: Oéj(.%') x f(x7y) = Yy
s Br() g(x,y) =0
6 (1) y? =23 +ax+b y=\r+u 3x1 . x=c
, (0:1:0) . (2) , 2?2 4+y?—2=0
>+’ +2=0 , 2?4+ —x=0 z=0
, , 2 +y?—22=0 22+ +22=0 ,x =0
2=0,22+1y> =0, , (1:+i:0) ,
2x2=4 . , Bézout

)

)
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